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(2) QMMM thickened shell vol. a;c €T
Yy = \/1 —

about y-axis

(b) 2mx (1 — 392) dx

(C) T (1 - 5132) dx

(d) none of the above
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42

F'(t) =e d {/ws et2 dt}

(a) - [(F@)® - (F@)?

(b) = [(F@®)(52%) — (F(a?)(2)]

() = [(F@®) — (F@?)

(d) none of the above
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nth midpt Riem. sum

1] 1.14G/m)
(2) jgl ['”’] { | for /12 e’ dx

~ [1 (/n)—(1/(2n
© & Bl

3

(c) Z [ Hl+(3/n) (1/m)]

(d) none of the above
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n—1

(a) Z F] [(2-|— (4j/n))5] nth midpt Riem. sum
7=0 n 6 .
for/2 x> dr
n—1
(b) > E] {(2+(4j/n)+(4/(2n)))5]‘
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n—1
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(d) none of the above
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CURRENT
(VOL OF SOLID OF REV)

disk and washer methods
shell method
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